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SOLVING TRIGONOMETRIC EQUATIONS

Directions: Solve each trigonometric function for ALL POSSIBLE VALUES IN DEGREES. Use the hints provided.
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Directions: Solve each trigonometric function for ALL POSSIBLE VALUES IN RADIANS. Use the hints provided.
HINT| FACTOR GCF
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HINT | FACTOR EQUATION AS QUADRATIC TYPE
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Directions: Solve each trigonometric function IN THE INTERVAL [0, 21r). Use the hints provided.

HINT | REWRITE WITH SINGLE TRIG FUNCTION HINT| SQUARE & CONVERT TO QUADRATIC TYPE
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Directions: Solve each trigonometric function IN THE INTERVAL [0,360). Use the hints provided.

HINT| FUNCTIONS OF MULTIPLE ANGLES HINT | USING INVERSE FUNCTIONS (calculator)
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Directions: Solve each trigonometric function for ALL POSSIBLE VALUES IN DEGREES.
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Directions: Solve each trigonometric function for ALL POSSIBLE VALUES IN RADIANS.
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Directions: Solve each trigonometric function IN THE INTERVAL [0, 360).
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Directions: Solve each trigonometric function IN THE INTERVAL [0, 2m).
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Directions: Use inverse functions to solve each trigonometric function IN THE INTERVAL [0,360). Round all answers to
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